./‘\F M - Final Exam Review Name: (A JS.

Functions:
Solve each-equation. Remember to check for extraneous solutions.

1 1 4
1) - - 5 == 2)
a a“‘-5a a‘-54a

2 6 L
pPF-2p+1 p-1 pi-2p+1i

n+5 Sn-30 - W 6n + 1
3 - 4) D= =1
‘ n n*-n __.1 ) n°=3n  n-3
Solve each equation.
(. 5) log,, Sv=1og (3v+ 9) 6) log 4 (v +2v) =1og (54— v)

V=" | eyl

7 log?[x+1)+}og?x=1og720 ) logz(.r—4)—1og27=3
WY, % | X = W
9) 7.1¢"* =20 10) 477°+1=92

Y= ~5-994 X =.§352

[Zx—Sifﬁc <1

~ 11. Given the function: f(x) = 4—3x2ifx >1

“

Find: f(4) + 2f(=3)— 5f(1) ~- 6 ,
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Sequences & Series:

12, . 4
For the fo""“'mg arithmetic sequence, find the 18% termof 1.4,1.9,2.4
A, y - A.4

13. Find the three arithmetic means between 2 and S,

X 3.75 35, U.35,6

14. Find the sum of the first 35 terms of the arithmetic sequence whenay =5andd = 4

§ = 95SS

15. Find the sum of the arithmetic series in whicha, =5 and a;, = 71

S=1142
16. Evaluate: ¥3_,(2n—7)
S= %

17. Find the sixth term of the geometric sequence: 1,%.1

16’
0 ok .
4 (024
18. Find the sixth term of the geometric sequence if a; =48 andr = -2

Ay, = =155y |
19. Find the 8" term of the geometric sequence whenay =9 andr = =2
0N €~ i \\é/b

é . 1
0. Find the sum of the first five terms of the geometric series: -+ 24124

5c§\‘6~7>5

21. Find the sum of the infinite geometric series, if it exists. Yome1 2K

Q no S

- —_— e
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22, Find
: the sum T
of the infinite peometric serics, if ilexiste: 20 -2 4 1= -
4

St \4.\¢

Trlgonomclry & Triangles:

23, Fi il
aTnd the missing side or angle using trigonometry. A
B . 15 y b.
1" N B
o g4 23211
' K W -

24 A ram;a in a park is 48 feet long and rises 6 feet. Estimate the angle to the nearest tenth that the ramp makes with the
ground.

o 141 3

25. Given triangle ABC with a =14, A =40°, and B = 28°, what is the measure of ¢?

€ 904

26. Given triangle ABC witha=7 cm,b=9cm,andc= 14 cm. Find the measure of angle C.
|61

97. Determine the number of triangles. (Use Law of Sines)

% msB= 18°,a=10m,b=4m b ms/B=18°,b=29ft,a=241t

AW A

28. In a paintball game, there are only three players left. Darnell and Gunner are on the same side and 20 ft apart. Josh
forms an angle of 75° between Gunner and Darnell. Gunner forms a 68° angle between Darnell and Josh. How far is

f?" Josh from both Darnell and Gunnet?
‘ | 4. 243 hom

\' R Uy WM
o g)\rmww L
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29. Rick angd Canl w
nangle measre
a.

4
-‘!nl.‘lﬂ Plant cogn along the edpes of a isngular plot of land af the prison. Two o
95* and 40", The side between these two

Find o angles is 80 feet long
nd the measury of the third angle

S

f the angles of the

“aedk N b= 117.7l

What is the perimeter of this triangular plot of land?

W

30. Aship is sighted from (w
the radar beam of the firs

C.

o radar stations 43 ky apart. The angle between the line segment joining the two statjons

and
§ I ¢ 1irst station is 37°, The angle between the line segment joining the two stations and the beam
rom the second statjon 18 113° How far is the ship from the second station?
AN (Va2
—~
\

31. During a figure skatin
5 meters and Shannor

25 %]

g routine, Jessica and Shannon skate apart w

ith an angle of 15° between them. Jessica skates for
1 for 7 meters. How far apart are the skaters? ;

32. Graphy = 2sinf — 4
=1 G M0 0 3 0 e
ﬂ. - 7 o ! _”,_ t _ 1]1’,-“- ___L{ﬂ’- ..........
Pvlﬂ NS NRE X NRANERRIvA S SR E
\/.

Y Y

33. State the amplitude, period, vertical shift, and horizontal shift for: y = 6sin(40) + 5

A= S
e T
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Statistics:

OFor uest
questions 19 = 21, use the following information: On a normal carve, the mean on the Algebra I1 Final is 54,

with a standard deviation of 11.8

34. What percent of students are within 2 standard devistions of the mean’
G
[+
35. 1f 120 students took the test, how many scored higher than 65.87

\ A S hwdnds

36. What percent scored lower than 547

Ke - &07.

Probability:

e-president, secretary, and treasurer from the committee. No

37. A 9-member committee is selecting a president, vic
ys can the four positions be filled?

person can serve in two positions. In how many wa

2074

38. Teddy is buying a sports car. He can buy red or b
many possible models does he have to choose from?

1

39. How many possible ways ¢

v

y ways can you arrange 8 candles on the top of a
/

41. How many ways are there to arrange the letters in

4457510

5. Smith’s preschool class of 12 students line

(&

lack, convertible or hard-top, straight drive or automatic. How

an you choose 3 library books to check out from 8?

40. How man birthday cake?

“Trigonometry”?

42. How many ways can Mr -up to go outside and play?

(( L4 o\ oo

43. How many groups of 5 students can be chosen from

5H\HY

257
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4 13 women?
44,

~ e nen an
How many ways can you choose a group of § men and 7 women from 12 m
\ \ )‘)(;J(" 0’] L

i ~ting 2 vowels at the same
45. Suppose you select 3 letters from the word CLEMSON. What is the probability of selecting
time?

)’ - ;()L\’]U
2\

Q

: i ability that
46. A bag contains 8 orange marbles and § purple marbles. 1f a marble is chosen at a random, what is the probability
it is not purple?

B,

Billy breaks his piggy bank and finds S pennies, 8 nickels, and 9 dimes. What is the probability that he will selection
1 dime and 1 nickel at the same time?

47,

R A

What is the probability he will select 2 pennies at the same time?

o 2
oy = J9h S

A die is thrown twice. What is the probability that a 4 is thrown followed by a 6

L
0

For questions 35 — 37, 12 playing cards (3 Aces, 4 Kings, 2 Queens, and 3 Jacks) are placed on the table face down. If
four cards are selected at random, find the probability that:

48.

49,

50. You select Ace, Jack, King, King, without replacement.

1 =004
51. You select a Queen, King, Jack, Ace, with replacement.

%’l/ L 00\’))K0l

52. You select Queen, Queen, Ace, any card other than Ace, without replacement.
L
%u q “ O O (6 \
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C

®

Identify
e dumam of the fﬂ"ﬂ“]nﬁ functions

53) \"2'\/:] 1 from—
}‘f Eﬁ B \ ) y=Nix-4 ¥ E Lf[}}
C-\,==) [ 3,22
$5) —y2— 3 |
xt -9 i R
(-=2,-3) Y(-3,330( 3 ) (-, ~2)U(-2,

Describe the transformations from the parent function y = x*
57) 2(x + 3)?

58) ~x+ d): -]

- \J Shrefun by L - Lefled X —axis
L2 -ty -¥
59) Z'(-x)2+7 o 60) (31);
-\ ( } -8 ('
e A

Identify the holes, vertical asymptotes, x-intercepts, and horizontal asymptote of each. Then
sketch the graph.

x> -4x X[ X-
61) f(x)=—;-j—3 ) Jflelegm— 6x—-8) 7(,()7'?(71:\

, Ay rpx -
4 px S
I i T
T .
&= - A co
=% _—6 T L g RN e
/é‘i'
7, 4
IRV
Ll SN i i
f\¢: e - e ( "f }@5 2(4) o
s =5 VB ¥s «

Y W=0 - T AT
X -t : et {-wd (0,9)

yrint: (0,7) Wt (0,0
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Mixed Review - Multiple Choice:

53. Find the value of 7, .

a) 15 b) 2 c) 24 360

Find the standard deviation for the given data: 5,6,8,11,10

a) 3.28 b) 1.28 @ 2.28 d) 4.28

54,

X49 x=7
55. Solve: — = ==2
x48 X=6

x=-l b) x=0 ¢) x=2 d). x=-3

56. Evaluate: loge729

3 b) 5 c) 4 d) 2
57. Evaluate: log94

a) 9.4 @ 1.97 ¢) .51 . d) 3.95

58. Solve e** = 5.7 for x to four decimal places.
a) -0.4030 @ 0.4351 c) 0.7559 d) -0.7559

59. logg(x? + 7) = logy(43)

a) + 36 ' 16 c) +6.56 d) +5

60. In(—=2y + 5) — In(y + 4) = In(-11y - 2)

@ (-3.68, - .32) b) infinite solutions c) (3.68, .32) d) no solution

N)

Scanned with CamScanner



f 61. Find an exponential functior A
110 mode] the data. 1] 7]
@ 8) f(x)=1164-4281ng 'J -
b) [(x) = 2.204 (3.56)" E1E
Cd) f(x) = 3.56(2.04) LSt
) f(x) = 4284 11641nx 1o
iven model.

62. Find the best fit regression model for the data according to the g

50 a) 49.79x150
¥ b) 5.48x3?
0 c? 156.13x - 175.71
d

260 1.5x + 391
400

560
750
925
1130

ol |t —

- 2n-1); e =1
63. What is the explicit form of the equation: a; = Gn-1t (

an=2n"'1

é ‘) 8 =ni-n+1
X

a =nt-2n+2

p a=2-2-1

i i i ‘mes the size of the functiony =
:on has an amplitude that is twice the size and a period that is three U
64. Which function has 2

3CDS(—"1) 57\’/(.?
AV e % r7¢
q Y

hne
=

~<
u
e
wn
-
[
Rl
|
W
[ S
+
M

1z
O e T

<
|
IR
A
5
P
o
ol
-*
(#%]
[ e
:
ol
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